

















20. A Question is given followed by Iwo
Statements | and [I. Consider the

.10 Cuestion and the Statements.
e\ N e
*

Question :

19. A Question is given followed nhy two
Statements | and 1L Congiger the P
Question and the Statements,

t : -
Question [ %

ABC is an isosceles triangle with
AB = AC= 10 units. If the area of
the triangle is 48 square units,

The diagonals of a rhombus ABCD
are in the ratio 5:12 ls one of
the diagonals equal to side of the

then what is the length of the rhombus?
base BC?
Statement-1 :
Statement-1 :
The sum of the diagonals = 34 cm.

The length of BCis an even integer.

Statement=I1 :

The height of the triangle is greater
than the length of half of the base.

Which one of the following is correct in
respect of the above Question and the
Statements?

fa] The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) ﬂut}uemmmmnmwdby
using either Statement alone

fe) The Question can be answered by
wﬂm-,butuunﬂtbﬁmummﬂ
umalmrsuum:ntnhnt

fﬂﬂmﬂuﬂﬁnnmhennmmd
even without using any of the
Statements
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Statement-1l :
The length of a side = 13 cm.

Which one of the following is correct in
respect of the above Question and the
Statements?

fa) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

fb) Tthu:qﬁnnﬂnl:!am“rﬂdhﬁ'
using either Statement alone

jc) The Question can be answered by
using both  the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Staternenis

[P.T.O.




21. In a triangle ABC, £A=30% Ap. 7 cm
and AC= 12 cm. What is the areq of the

trangle ABC?

21 em?
_._,_F—

fal

. Wt
) 21/3 em? "y
4 8-
fc) 42 em?
fd] 423 em? ﬂ&qrﬁl} ‘kﬁn

22. ABC is a triangle right angled at B
D is a point on AC such that BD is
perpendicular to AC If AB=p and

24, An angle B |s exactly one-fourth of its
complementary angle. What is the value

of angle 67 F
| {gm"ﬂ)
fa) 12° g=7%" ﬂﬂ
-9
-
__.-:_".
\,(0)/" 50 $°
18 o=
r»ﬁ @ 20°

28, The sides of a triangle are 11 cm, 60 cm 4
and 61 cm. What is the area of the 1L
triangle formed by joining the mid-
p-;rintsufthcnid:sufthen-i.tng]:? :.;3_;

[ B

L

T:"'E:\\"*

BC = J/3p, then what is BD equal tu? UW/IE‘E em? | ;_Q‘.Er'
ED =y Qilrri’ K] *
fa) p/3 2 Lo @f
0” @ () 110cm 30
& f‘?-" o ol
® p/ %) LY 22
R b EEREE # gt
e & E:"” # @m0 € 3
7 cm -
(d) 3p/4 '@ fé# %

23. The difference between an interior angle
and an exterior angle of a regular
pulygunlnlﬂﬂ" What is the number of

fa) 90 cm
J_f,,ﬁ( o
(b) 100 cm "l."-*’“f
5"
,_Muf«-:m ‘?G"'*'lﬂ
""ﬁ cem
fd) 110 cm ¢




27. A conical tent has an angle of 60* a1 the
vertex. If the curved Burface area 19

100 m2. then what is the ‘ﬁ"’w of
the tent?

30. Let the area of the largest possible square
inscribed in & circle of unit radius be x.
Let the area of the largest possible circle
inscribed in a square of unit side length

v n -h Kbe y What is the relation between x
25042 3 ﬂ*‘ - L T:,g ‘.ﬁ
fal ; = ::I- * e and y?
wIR q_.} o
@ 393 m3 %1- A o .
'q'rf.i L) “1].’- ;’1, g fh}' W“H
" WE%@ a3 Vet A ¥ .E:(/,yjf fo) m=x=4y Jiy =0
‘ iﬁ-‘h*? @ =x=8y y=5-"
1000+3 _a ¥

28. A right circular cone and a hemisphere
have ;uqual base and equal volume.
What is the ratio of the height of the
mmﬂﬁhﬂ:ﬂﬂnﬂnﬁﬂpﬂu‘?

Al b} prigq
fa) 1:1 D i pair
B 1:2 Y*

—— cm

gy Y
T = b=

ﬂ"*'-.

of the above

fd) None 4
355—3-‘6:’“
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mchwhrcjtﬁukrhﬂlm.uﬂﬂn
radius is less than the height. If the
curved surface area of the cylinder is
616 cm?2, then what is the volume of
the cylinder? (Take = =22/7)

fa) 1078 cm?

B 1617 cm?

12 fel 1927 em®

(d) 2156 cm®

[PT.O.
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62. If 8sinf-cosf =4, where Ocben/2

(1736)
5 12

~& oL
s = b=
= {

w i § ’

e
-

&8, If coth = J7, then what is

then what ia Eﬂlﬁ; equal to? M 29 _ 2
L !"‘ e 9 S t-. : q “_;H;'E__'___I&E_
L~ AT P I" 5 n cosec?h + sec? B
fal 1 4 %911'1& q .'l. ¢,
-'I.kl H ) - ) \ ' I
) equal to?
b} 3/2 @5# o i
- ._;p‘__,\hg’ Jrf;..-'; fa) 1/2
fc) _51"3 % e H\hfra.ﬁiﬁé b 1/3
PP Y
fd) 2 L fc) 2/3
@
df 3/4
63. If 2tanf =sec? 8 -2, where O<B<n/2 66. The difference between the twn n:‘:ut.:
then what is cot® equal to? angles in a right-angled triangle is
.12 radian. One of the acute angles of
1
fa) +2-1 & .
.Ja/i&n fa) 60°
) 57-5°
3-1
- \_mfsz-s'
(d) J3+2 {d) 47-5°
67. Humdﬂmthemnunfttwtquaﬁun
64. What is (sec-tanf)- j—— — equal
2 iy h!]n,[m+"llxi —]-Bx"'?ﬁ]ﬂ-!'
= &
-\
‘_)l,/'-'; “fﬁfﬂ HJ;F then what is |0 —ﬂjﬂ equal to? :
~ - pE
+ 38 =
d'%m,)@l:*@ @ 16 o ot 1BIC J
jb) 2tan# L!l'ff“’} . A 'l
fe) 2sech 4 fc) 36 * St
U:rfiﬁ) i (gt -3
nH 12 &
(d) sinf+cosb % g b 180 ) "
£ : d+-p =!
—_— P.T.O.
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SRy x T 204 —296
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68, If x¥ o y* w14x2,2 23 W |
[ ¥, then consider the T0. What ia

following e b il Wi
_X-y Y-z 5-x
l ln!“‘l.‘.: & y:i] 2 ﬂ !:_-l l"!‘_x 3.
X-y y-z 2-x
"'l":*".x-i “:
hlﬂ ili 2'”’*1“'2 Eq‘l.l-ll lﬂ'? _._.'F-}
. "’“lﬂ'“ “V)=logig xslogoy x 1:oef (@) ]
+10gy52 4+ 0. ihs:?x X ® 1/2
loj2:3" * ) 1/3
Which of the above 'il.l'.n correct?
'H"” 'zf'ﬂ o il
fa) 1 only PO, e
g ,fff'#"; 71. What is
el o el . LHEE
K
m"‘ H'P c- "'ﬂ"'H Eﬂi‘bﬂ—-ﬂi--ﬂb
fe) Both | and Il ttw‘si‘w*' “ﬂl"}* ja+2b+c)
L
{47 Neither 1 nor I s gt
o2 vt a equal to?
3
% f@) -1/2
69. Which of the following is/are the factor(s) B O

of [3x + y)? +(3x + ylix + Sy) -20(x + 5y)*? gy 6 1/2

+5Y
L Hx+13w) @ﬁ,ﬂi&&' e T 1

. (x+19y) 72. If a® = b®, then what is

Select the correct answer using the oY)  ax|:
code given below. tﬁ'ﬂw u[t:]]

e ¢ e &9#

a1
o () et o

ﬁw"‘t) !;*&'*ﬂ)

f) Both 1 and Il Q*-rﬂ) G*fmi)-y e ﬂi_-;g"* a.-:-l_-.!':”".i.
fd) Neither | nor Il (d) a®
a
ANFB-T-EMT/48C 3 Tt [PT.0.
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It Frg  r4+s

84, -
q+r H*p' lﬁlﬂ-ul II*,I"l"'[]-

then which
COTTEcty ohe of the following 1=

) p+g+r+z=0
b p=r
i E"h"rl’”ﬁf‘"ﬂ-l}nrp:r

fd] None of the above

85. If n is natural number less than 7, then
what is the number of values of n for
which (12n + 2) and (8n + 1) are relatively
prime?

(a) 6
fb) 5
fe) 4

id) 3

86. What is the HCF of .1'3+y3+3.qp-1
and (x+y)* -17

B3y |
i M
) x+y+l Mfﬂ} (1]
) 1
fo) x+y-1 @_.,.-f)}'f_.l
44)(
ANFB-T-EMT/45C 3 1'.
[
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g7. Let x =njn+ ljjn+2), where n is an even
natural number. Which of the lollowing

statementsa isfare correct?

I. x is always divisible by 48.
. x? is always divisible by 144

Select the answer using the code given

helow,
fa} 1 only
fb) 11 only

() Both I and II
(d) Neither I ner II

88. What is the LCM of x"drxiyzvry".

xy+yt and x*y? -7 ?
@ x*y*x®-y°)
) x3y?ix® -y
() x3ulx® - 4%
fd) xyix® - y°)
89. Let XYZ be a 3-digit number. Let [ be
the difference between XYZ and ZYX.

What is the remainder when ¥ is divided
by 997

e 7T
fdy 9

| P.T.O,



90. Let p and g be two naturml pymbers
such that (p+ g)P*9 |y divisible by 512
What ia the least value of (p iqll?.

il &
b &6
fc} 8

fd) 12

91. Mtﬁﬂhﬁnwm”ﬂh
divided by (x-1), it leaves 2 as the
remainder. When pix) is divided by
[x-2, it leaves 1 as the remainder.
What is the remainder when p{x) is
divided by (x-Qix-3?

fa) 3
B -3
fe) 3-x

fd] 3-2x

92. Consider the following in respect of a
positive real number x :

1
. x+—=2>1

x
1 2
Il. [x-r-) > 2
x
4

. [nl] >9
F 4
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which of the above are correct?

fa) 1 and 1l only
fb) 1 and Il only
fe) 1 and I only

id) 1, 1l and 101

93. Let p and g be natural numbers such
that g > p. What is the largest value of
pmﬂlﬂmtqﬂvﬁpa-ii-mpﬁw?

fa) 3

]
:
:

| P.T.O.
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